A/60/PV.20

476<?7 9 %, "$9&3& ; 734& & %& %$ 174C %, 7434C5&6&
74 397,1 57"&(&& 1999 #7-$.

1 37B$6,%&=, ) 9.-%CB-,% ?7%34$4&"79%4<, 47
;,B-C%$"7-%7, 377*A,3497 :$34&:%7 %,3,4 749,4-
349,%%734< *$ 4"$#&:,3?7, 5767B,%&,, 9 ?747"7;
7?$"$68&3< 3,"*3?7, & -"C#&, %,-$6*$%3?&, ;,%<-
L&%349% 173797, $ 4$?B, "$ 57684&:,3?&1 E?34",-
;&5 $6*$U3?7H#7 *76<L&%349% & 379,"L,%%., &;
5",34C56,%&). FA$%-$"4_, 75",-,6,%%., -6) 1737-
97, 5"$?4&:,3?2& %, 9.576%,%.. 1"%$:$,4 6& E47, :47
;- —76B%. 74?7$"$4<3) 74 5768487& «3%$:$6$ 34$%-
-$"4_, "$4,; 34%4C3»? N$ 5,"&7-,

24



25



A/60/PV.20

@-"$B$) 5"&"%$4,6<%734< ;,B-C%$"7-%7;C
377*A,349C '$ 5",-5"&%&; 8, ; -, &; C3&6&), FC-$%
/74,6 *_ 97"-$4< -76B%7, $?4&9%71 "76& RG"&?$%-
3?27#7 37="%. O. 5"&".9%,; ;,B-CUu$"7-%7, 377*-
A, 3497 5"7-76B$4< 778" _9$4< 57 ;7A< & 57--,"B?C
C3&68&) ; RG"&?$%3?27#7 37="8.

FC-$% 5"&%)6 ?7%34&4C(&= 5,",/7-%7#7 5,-
"&7-$ 9 &=6, 2005#7-$, & 5","&-,%4 & 9&(,-
5","&-,%4 %$;,",%. 73CA,3496)4< 3971 ;$%-$4 9
37749,434988& 3 37-,"B$A&;&3) 9 %,1 5767B,%&) ; &.
O. 37°-%$6& 5"$9&4,6<3497 %S(&7%N$6<UTH#7 ,-&%34-
9%, 77477, 5"7-76B&4 73CA,3496,%&, 5,",/7-%T#7
5"7(,33%. O. %$:$6& E474 E4$5 3 5"79,-,%&) 749,4-
349,%%7#7 -&$67#$ 37 93, ;& :6,%$;&
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A/60/PV.20
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A/60/PV.20

%,4,, $ 4$?B, 9_576%,%&= 93, ;& 397&/ 7*)"$%%7-
34,1.

P$°C;,,43), 93, ;- %, 5"&,;6,;
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